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Probability distribution in the List Menu

Variance and Standard Deviation (in Probability) in the List Menu

NCx, factorials, entering information correctly in BinomProb formula
calculating z-scores

CLT/StDev of sample means

normalCDF with z, normalCDF with x

invNorm

binomPDF



Probabillity Distribution in the List Menu

» When you're given x and frequency and you need to find the probability
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x—L1 {0, 1,2, 3, 4,5, 6}
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Probabillity Distribution in the List Menu

MORMAL FLOAT AUTO o+bi RADIAN MP n
» What's the sum of L, ¢

> sum(L,) sum(Lz)

LIST L5 U L2 z ENTRY SOLVE




Probabillity Distribution in the List Menu

MORMAL FLOAT AUTO a+bi RADIAN HMF I:I

» L;=L,/sum(L,)
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**Quick check!!
sum(Ls) should equal 1.

Lat)=0, B23809523809524




Probability: Finding the Variance and

Medan

» We have x and P(x). We need p, (x — p) 2-P(x), 6%, and o.

> u=2x-Px)
NORMAL FLOAT AUTO oa+bi DEGREE HF I:I
> X P(X):Ll ° L3:L4

sum(lL4)
u=2.988 Z2.988095238




Probability: Finding the Variance and

Medan

» Now, we have u.Let'sput (x — p) ?- P(x)in Ls.
NORMAL FLOAT AUTOD a+bi DEGREE MP I:I

e — 2. Py sumiLs)
L(xr= )" Pe) 2.154718286




NCx: ] 65 €5

NORMAL FLOAT AUTO o.+bi DEGREE HF

L




Binomial Probabillity: ,,C,p*q™™*

» With an expected 70% chance of success, what is the probability of

ge’r’ring exoc’rly 5successes in 7 trialse HORMAL FLOAT AUTD o.+bi. DEGREE HF n

5 2
Cc(.7)%(.3)

D.3176523




BinomProb Formula: factorials, entering

InNformation correctly

X N—X __ X 4y N—X
> wlaP T = P NORMAL FLOAT AUTO a+bi DEGREE MP f

,Ce(.7)°(.3)°
P.3176523

7! c 5
ey L= 707 (.3)

0.3176523




BInomPDF

NORMAL FLOAT AUTO a+bi DEGREE HF n

Ce(.7)°(,.3)°
.................................. 0.3176523
L (.7)°(.3)°
{7=-5)I51 + " "
.................................. B.3176023.
binompdf(7/,.7:5)
0.3176523




BInomPDF

What isn¢
» Captain America What is pe
» IronMan What is x¢
» Thor
> Huk HORMAL FLOAT AUTO o+bi. DEGREE HMF I:I
» Black Panther
> Captain Marvel binompdf(12,.5,39)
N @.1933233/75.
» DrStrange .
» Black Widow
» Scarlet Witch
» Star Lord
>

Howkeye




calculating z-scores

» An average Japanese femaleis 158 cm tall with a standard deviation of
5.6 cm. Chisais 164 cm tall. What is the z-score of Chisa’s height?

X —
7 =
© NOEHAL FLOAT AUTOD oa.+bi DEGREE HP I:I
16Y4-158
33

1.8714285/71




Central Limit Theorem

> “Who-l- |S The S-I-Oﬂdord errorg” NORMAL FLOAT AUTOD REAL RADIAN MP

O
’O}g:_

» Standard deviation of 6.4 and a sample size of 40



When to use the z with vn
(when to use CLT)

. score (& normalCDF) of an individual L score (& normalCDF) of a sample
X —H X — U
L — 7 =

“ o/Vn

What two changes do you noticee



CLT/StDev of sample means

» You surveyed 47 college students who paid an average of $435 for books
this semester with a standard deviatfion of $103. What is the probability that
the true mean is greater than $462¢

MOERMAL FLOAT AUTO o+bi DEGREE HF I:I

H35-462

103/Ju?
-1.797113342

normalcdf (Ans, 1e99.,080,1)
B.9638412391




normalCDF with z

» Givenaz<-.24, whatisthe probabilitye

NMORMAL FLOAT AUTD o+bi DEGREE HMP I:I

normalcdf( -1e99, -.24,8,1)
BA.405165175




normalCDF with x

» Giventhat x <47, the meanis 32, and the standard deviationis 7, what is
the probability?

MOEMAL FLOAT AUTO a+bi DEGREE HF I:I

normalcdf( -1e99.,47,32,7)
B.983937/7721




» What zscore is associated with 87% probability?

HORMAL FLOAT AUTO a+bi DEGREE HF I:I

invNorm(.87,80,1,.LEFT)
1.126391128




Have/Need

Have Need Do

VA Aread normalCDF
Ared VA invNorm



